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Section A (20 marks) _
- For each question 1 to 10, four 0pt|ons are given. One of them is the correct answer.
+ Make your choice (1,2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optlcal Answer Sheet.

1. .Which of the followi_ng -s_tateménts islére true?

A: The life cycles of animals show ttie different stages of their growth. - '
B: The life cycles of animals enstire the continuation of their own kind. -
C: The-young of an animal will go through the same life cycle as its parent. |

(1) °~ Aonly

(2) Bonly
- (3} .. Band C only L
- @4 ABandC

2. Study the classification chait below.

Ammals thatiay eggs :

Sstagelfecycle |~ ' - - [4stagetfecyole. | ;"

. | Canfly | Cannot fiy. | | tivesinwater | . [ Lives ontand

: t — o7 R ,[; ..'.. .- :_: EAPEN ' - i -4 i g T, TS oL .
: : . . 7 ' ! . T P

A ' ‘B .

Which of the above animals (A; B, C orD) is likely to be a bird?

(1) AandB
(2) BandC
(3) BandD
(4) CandD
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3. The diagrams below show the fife cycles of two animals.

Life cycle of Animal X . ere cycle of Animal Y-

Which of the followmg statement(s) show(s) smllantles betweeri the two life cycles?

A ': Both: have 4 stages

wr

B: Both thelr young do not resemble the adult.” ‘

C:- Both spend part of thelr Ilfe cycle lnnng |n water Coa e
1y Aé’ﬁlif-
. (2)- Bonly

(3) .AandConly -
(4) BandConly
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4. The diagrams below shows the life dyc!es of Insect A and Insect B.

Pupa 7. Adult .  Pupaa 7 Adult -

el T A
.. - Lava , . Egg : Larva . Egg

' 4xdays - " bdays.

Life Cycle of Insect A . Life Cycle of InsectB

- On gay'fl?;-yvhich stage would both:insects be at? S

. lﬁsectA | : | T [nsectB -
(0.7 Pwa - [ . Pupa.
(4) [ . Pwa [ tama
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5.

Hanis drew a flowchart bé_low.'_ _

-Start , : Does it lay its eggs in
. - water?
l Yes .

'| . Does it have 3 stages:in
its life cycle?

. | Yes

‘Does its  young resemb!e

4]

- thcﬁof meabove ar'iiiilélu(-s;)' is/ are-piaée'—d wrong!ﬂ 3 ’ _

4\',

(.,"1:)"".&‘ M’osquutot orlly : S
(2) 'Butterﬂy and Mosquito only - e

.. (3) -,C:hl,ckgn,anc‘i nosquito only
(4 ¥ Butterﬂy,ijrog and mosquito only
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6.

~ Alice used a datalogger to measure the amount of fight' that can pass througﬁ four
dlﬂ‘erent materials. : : :

- Datalogger
R o o - Material ] . __ -

-

Torch )

The graph below shows the results of her experiment.

Amount of Iigl?lt‘k
~ that passed. |
through
(units)

A B g i |
Which material (A, B, C or. D) is most suitable to be usedto akethelenses of a pair of

. M%tgﬁal_s
SELRSE Py ke

spéctacles?

(1)
(2)
(3).
(4)

A
B
Cc
D.
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7. Aboy s looking at his shadow as shown in the diagram below.

D

C

A

At which position (A, B, C or D) is'the sun most probably shining from? ~

(1)
(2)
(3)
(4)

OO0 | >

s

" 'Page6of1s .

Lty
,
<.



8. ' Adam shone a torch on objects A and B as shown below.

Screen

Torch

.

ANINNNNNNN SRR

. He‘ob'se_rved that a da}k:shadow-was cast on the screen.

~ Shadow —~

" Screen — .

He then removed Objegij'and saw a'new, lighter shadow cast'on the screen .

Shadow —=

- .Screety —- -

What can Adam conclude about thé 2 objects he. used? .

"~ ObjectA N Object B
(1) Opaque-. .- B ~ Opaque :
(2) "~ Translucent 3 - Opaque
'(3')j B " (.)paque. _ Translucent
(4) .. ” Transtucent Translucent

':'Ré9670f1s -



9. Rajii carried out an experiment as shown below.

torch.

- object - '

wall

A shadow was formed on the wall. What will habp'en fo the shadow if the torch is moved
rearer to the objéect? ' '

» A : The shadow becomes les.s'pl'ur..;
B: The shadqw-beoomes.niore blur. -
€ : The shadow becomes bigger: o
D: ]?;he__{shadovi becomes smaller:,

" AandDonly
" BandC only by
Band Donly- ",

.....

soeme wwvm
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following diagram.

clear

. plastic metal frame

He’shone a torch on itand placed a styrofoam cyiinder behind as:shown in the following
diagram.. . - '

-
pp—— e

styrofoam
cylinder

 clear plastic - - - white
withmetal . " PRIV screen
frame i :
K Which of the following shows the shadow fdm']e‘diohiﬁé'v&hité‘ééfééﬂ? S

(2) .

o (4)

~ End of Section A ~
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Soction B (25 marks)
Writo vour answers to quesﬁons 11t0181n thia booldet. ' s e =
1. Thed‘agramsbelmshowthaﬁfecydestInGeQXandYreepewwely

| /’
;@ o

Life cyae of‘:ﬁsectx- Life.cycla oflnseth

{a)" $a?ed an'the diagram. state a diﬁemnoe between the life cycles of lnsect X and lnsect
. 1rn) . -

: (b) Whlch insects. (X or Y)hasa smnlar life cycle.witfi each of tfle'folluwmg snsec;ts‘? (2m).. L

() Grasshopper:

Paga 10 of 18



12 John wanted to find oul:howmuchfood a caterpillar needs fo eat so he séts-up the.
emenment as shown be!ow He observed the set-up fora wesk.

-
™ Leaves
Caterpillar

He we:ghed ﬂ:aleavesdaily and raoorded itmthefable helow ‘

;_Dayi Massoﬂeave#(g) .
1| 20
2 18

3 15

4 A2

—

6

7

10 :
10 s e n

(@) John chserved that hylhe end of the week, the caterpil!ar had already developed inta a

_ pupa. Based on the tab!e above, frém which day-did the caterpillar most {ikely become
a pupa? (1m)-~

© “ Day

() Eviplain your anewer in-(@). (2m)
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When the torch Wasﬁ'éhdhe ghe sawa bnght patch of light on Matenal C.

-@). Classify the four matena!s usfng the table below (2m)
Transparant ' . Opagqe_

' NBt Pdgsible fo si'ell-

-'(b) Y‘ iLing than rep!aoed Matenal c wﬂh a;

plece of dlear. plastfc.wmﬂd sﬁeﬂetthe samg
results? ExpTam youranswer (1m) I -

Page120f 18 .



14, Allcutupaho!eﬁ'lapieoeofwrdboalﬂandbrwghtltlntoadarkmom Heihensetuu
hlsexperimentasshownbetow co . -

" Cardboard | Al

)

- Afall -

), Which part of thewall (A, B, €, D or E) would All see a biiaht spot ofight? {1m).

*'Ea[t ‘:_-_“‘_ ..-«.-.-.'*- P T, .—- P . - . - ‘r . , Tio fiaa .

- by Give a feason for your answef-iu._(a).. (2m)

Page13 of 18



altemate days.

() How does this help to prevent mosquitoes from breading? (2m)

- (b) .sm kedps a pet goldfich: Her mother saw the advice and ‘siggests that St should.
change. the water in the fish bowl every sfiemate days 1a: prévent mosquitoés from

- breeding. Do you-agres with Sitfs mother? Explain yotir ansiver, ‘(1)

P

.. - Paget4of18



16. Ray obseived & mealworm that his teacher.gave him over afew weeks, . . -

(). Complete the life.cycle of the meafworm below. (1m)

(b) " On the, 3" daly, he’naticed that. thiefe was ‘&cluinp of ‘skin* In the container, Which
process did the. mealivorm go through to-prodisce that? (1m)

B A

(c.) 2 weeks later, he found’ that the rneahvorm had {umed wﬁrte and |t ]ald 1here vﬂlhout
movmg Hedrew a picture of it and ciaﬂned thaf itwas dead.

Do you agrea wifh his claim? Why orwhy not (1m).

Page 150of 18



“8He recorded her rasults in the table below,

Wateral Aﬁ{ouﬁé-onight.(nu)
S

U:q@ @l »

.(é) Aﬂ'anga the matenals ‘from the most iran3parent to ﬂle leastirans;:arent (Em)

..*._.'-\.

— ]

(Most !ransparent} y - T [Leastﬁ'ansparent)

- e,

() -Which matsital (A, B, G-or.D) coutd licely bé wood? Givd ditoasai, for
-my _ Rkl -

- Page. 16 of 18-



18. MlssTanplaoedob;actx,Mhaholehmemiddle in between a torchand a white
screenasshownbe!o'.v . L e e

hole

ObjectX

(a) She obsen!eﬂ a dark shadow formed: an me wmte sereen but a bright tnangularlight in
T the mlddle E)qo!aln her observsitions. {2ni)

LR R TP Ny

Page 176f 18-



Miss Tan then asked her studénts to.move fhe 6bject'-doser__tumg torch They
easiired the distance befween the torch and the object as wel as the height of the. i
shadow and recorded their findings In the table beloty,

Distance betwoon lamp and objoct
(cm)

20 . ‘ 7
& T T

Height of shadow (em)

(b} Based on the above-iﬁfonnaﬁon; how does the. height of the

shadow change as the
-distance between the lamp and-objéct decreage? (1m) '

I W o a——

o) Predict what will happen fo the.height of ihs Shadoiw i g distarice betweerthe faip
- and the object-if___r_qg:r_gjh?nfzscm_ ) R ' :

e L ey e o

~End of Paper ~
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11) a) Insect: Xhas 3 stageswhlle insect Y has 4: stages.
b} i) Insect X . - i) Insect X
' 12)a) Day5~ -

b) Mass of leaves for day 5,6/7 are the same so in pupa stage it
will hot faed. The mass of Tea will remain the same.- .

13)a) B A D
C

b) She would not get-the same results. If material Cis transparent
the shadow will be cast on material D.

14)a) C
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b) Light travels in a straight lme SinceCisa stralght Ilne from the
I|ght Al| would see a bnght spot of light at C. R

15) a) Mosqultoes breed in stagnant water so changmgwater wull
flush away the mosqmtoes’ eggs and kill them.

b) I do not agree Mosquutoes breed in stagnant water but f‘sh
keeps the water from being still.

16)a) Egg ——» Mealworm
. Adult P Pupa ' : . |
| b) The mealworm is going through mouiting.

c) No: The mealworm had developed ifito, the pupa. It does not '- 1
move and continue growmg and turnrinto adult ‘

‘17)a)A-—+D —>CcC—* B

.b_) Ma'tenal B could likely be wood. it is beca ué‘"—é""i‘h’ro“dd i ’opédﬁé’

- 18) a) When light is blocked by an opaque object shadow is formed.
h There is a tnangular hole that allows light to pass through to form
. bnght trlangular light. S

‘ | b) When the Ilght source Is near the object it wnll become blg and”
‘blur '

c) The shadow will be smaller.
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